1. of@ Alo] —242 4 3x+ 1< Wlolof & A AFate] Y 4 +

el
2x + 30] HSIe}. LHh2A ALE A1 Fahul?

O 8x2-4x+1 @ 8x2+4+3x+1 @ 4x2-2x-1

@ 4x®2+3x+4 ® 6x2-2x-4



2x(x—1) = 3x(2x - 3) — (=7x* + x - 2) & {I235] 5tH?

® 3x24+6x+2 @ 3x2-6x+2 ® 3x24+6x-2

@ -3x2+6x+2 ® 3x2-6x-2



3. (2¥*-3x-5)-3(x*-x+4)=A*+Bx+C Y Y, A+B-C 9
= oozt

D
=%



gx(Qx - 4y) — bx(x —y) & V&3] 5HH?

D -2x%2 - xy @ —2x? - 11xy @ 8x% + 11xy
@ 8x% - xy ® x*+xy



5. EWO IR, AR Aot 247} 24, 3091 ASWA| O] 57t 124° -
24a’p =3l & T, EOl=?

D a-2b @ a-4b ® 2a-2b

@ 2a-4b ® 2a-24b



A (Br-dy=3) - (x -2y - 3) & 7hHe] oo

@2x—3y—|—6 @2x—2y @2x—2y—|—6

@ 2x-2y-6 ® 2x - 6y



x—=7

=Ax+B 4 W, A-B 9| F2?

® 4 @ 5

W =



8. (Bx-y+1)—( )=2x+y-30°lA () o gure 229

® 3x-2y+4 @ -3x+2y+4 ® -3x-2y-4

@ 3x+y-4 ® 3x-y



1A IA —x -2y +4 & H5HAIEY 4x+y -3 ] =3

IS
?

O —x+2y-7 @ —x+3y-3

@ 5x+3y-7

® 5x—2y+4
® bx+3y+7



10. A=A, B, C o thoko] —(2x% + 7x) + (x> +9x—4) = Ax> + Bx + C
A ®l, A+ B+ C 9] g= Fstoiet.

D S
=%



11, the 87] 5 oAl =% 9 A Q7

@ 4x? - 5x
© x(4x—4)+2-4x?
1
© xj—x
® (2-4x+3x%) -2(x* —4x+1)

g tan) - (1o o)
S pdx—1) - (-1-dx-=
@<2x—|—x X 3x

@ 174 @ 274 @ 37 @ 4 7 ® 574



12. @ 58t 7= falel A upxut ge 5 o] sl kgt 2
2A7} Fol Zrt.

5A) b 4 e sl
a—{3b+6a—(a—2b-5)+7}

27} thgat o] G e ul, AL HEA £ L A

7)
7122 Azt
@ SA D da+5b+12 © &4 -4a-5b-12
© A+ :3a-b+3 ® €% : ba+5b+12
® WA —4a+5b-12

D
=%



13. o3 A& 7hets] ofdA?
4a—{2b-a+ (b-2a) + 3a}
D 2a+b @ 4a+2b ® 4a-3b

@ 2a-2b ® a+3b



14. oFg AL F $7) e AL

—(2a-b)=-2a+b
—2y(x 4 3y) = =6y — 2xy
2y(5y — 3) = 10y* — 6y

—2x(3x — 4y) + y(x + by) = —6x% 4 10xy + 5y2

© ® © © ©

—2x(4x—3y) —y(x-3y+1) = —8x% £ By +3y2—y



15. (4a®b - 8ab + 2b) =+ (-2b) + (a®x — ax) + 1)c 5 7t9]

{rtro
3

ol

et

@ a?2+a-1 @ a?-a+1 @ a?2-a-1

@ a*+a-3 ® a2 +a+1



16.

(3x% = 9xy) =+ 3x — (6xy — 8y?) + (-2y) E Al

® 4x-1Ty @ 4x+ 7y

@ 2x+ Ty ® 2x-y



17, (<6%y + 120y~ 18)2) = Sy & 28] o7
2
D -9x%y* + 9xy® ~ 37 ¥’ @ -8x2y2 + 16xy2 — 24y*
2
® —SXQ +9x - ;y @ —8x* + 16x — 24y

3 27
® —5)62y2 + 9xy — ?yQ



@ 9x + 6y?

@ —9x3
9x3y? + 6x%y3



=4 xy?z — 2x%y + 5yz2
3xye O] Ft& oot



20. x=2 y=-19 ), b Ao g Fatelet,

2x — [Ty — 2x — {2x — (x — 3y)}]

D L
=%



